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e,



1.8 z,, 0 BETF 2 PR+ 22+ m’ =0 M TIR, B 2zl - 23 =2, Kk m VB

NBRTFB I+ m+q=0 PR 22+ + p=0WIRZEBVE, K:p+ g HES

T2 m BHASEN,XTF X W RG5Bm’ -2(m+ Dz +m~1=0 M TREBEH.
INCTTZRIR ar® + ke + c =0 BT SIEUR 2,0, KL : ax’ + br + c = alz— 2, )z — 1)

NKF 2 5822 +2(m - Dz + m? +4=0 BRM TR, AEMRESHLARIRK 21, K m .
+ WRXTF z WZRHBE L+ 2k -3z +1=0 B TXER, BXFR T KBUIR RN 1, KB

THE.

2.5 “RZSHRAMEARFRAARE)

LESXEDBERDB-R=ZNT o’ + br + c HEA, GUEBALRARBHE BT
11,12,%65’52 a.1,'2+hl+ c= __
2 BTABHNBBEL:

(1)2a(s+c)-3(b+c)=____ . (D4alz~y)-2(y—zl=____
(3)3ax’ + bazy +3ay*= . (4322 -5z+2=___ .
GXz+y)P-(z+y)-30=___ . (622" ' -62"+4s" 1=
(22" 442" 6227 2= . (8)a%-b* -2 +2bc=__

OEXYBVEALBER :2*-72°+ 6= .
UOESYCEEADBER 2%+ (2+/3)z +/6 = .

Z\KER
.85 94* - 6a%6% + p* BI—TEHAR c
A3a*+b2  B.322-b  C.(3a) -8 D.(3a)*+8?
2LUR 252+ Wy + k B—TREVLHR AL B ¢

A9y B.y* C.6%  D.36)*
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